Eh—F2tutD

52
|'“ A—Q
64 48 42 58
A—B 3o B—6
I |
58 B—0 37
149 7 65 | 40 74 | 39 3z | 70
—3 B—2 = B—1
38 | 28
A—2
| b} il & b=} gl 1B
% %ﬂ il ml | % [ @ |
A C B H iR B A
1 | | |
N I S e I
<FMb—FAvbD» v v v v v
! IR A TR TR
i ks
A c # ] B =
ET‘: 18 B—8 41
[ i
A—5 B—4
14 77 &~ 0fi 47 5?
B—5
(1] 25
45 31

B B | FREEZZ A (HIREA) 6 | FREEZZ B (#IEEE)
EE MY S — X A | A—RFEE L (R
3 fir B -2B gfil | KFoBWBC (BRR)
4L |SPINNING HOOPS (FRik) | 9fu R EE e
5 fi s HwWB C

BEEREE |  FREEZZ A /#F B+ |

€I XLy
100 47
101 g EX-AT gy 59
EX—AZ3 REE Eird EXx—B3
103 EX—E7 62
b M A
E’ 5 0 P
s A T A
= !9 I G
1Y H
7 z E E
E B MEYS F 5 fir Fsah—2=
R MOT I YE 4 i APACHE

NZA ISP -—B | #ESSY

DEE —4 |




